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NEW QUESTION 1
In which normal form is a table, if it has no multi-valued attributes and no partial dependencies?

A. second normal form
B. first normal form

C. third normal form
D. fourth normal form

Answer: A

Explanation:
References:
https://blog.udemy.com/database-normal-forms/

NEW QUESTION 2
You issue this command which succeeds: SQL> DROP TABLE products;
Which three statements are true?

A. All existing views and synonyms that refer to the table are invalidated but retained.
B. Any uncommitted transaction in the session is committed.

C. Table data and the table structure are deleted.

D. All the table’s indexes if any exist, are invalidated but retained.

E. Table data is deleted but the table structure is retained.

Answer: BCD

NEW QUESTION 3
View the Exhibit and examine the structure of the EMPLOYEES and JOB_HISTORY tables. (Choose all that apply.)

HR Tabla ENTS LOCATIONS
Namae e Nulr? Typa Name Hull?
DEPARTRENT ID NOT NULL [NUMBER{4)
| DEPARTMENT_NAME | NOT NULL [VARCHAR2(30) STREET ADDRESS VARCHARZ({40)
MANAGER 1D NUMBER(G [POSTAL CODE VARCHARZ(12) |
CITY NOT NULL | VARCHARZ{30)
- STATE PROVINCE WARCHARZ{25)
I /I\ COUNTRY_ID CHAR{Z)
Name Null? Type Name N7 JType -
EMPLOYEE_ID NOTNULL | NUMBER(S) === EMPLOYEE ID NOT NULL [RUMBERIE]
START _DATE NOT NULL | DATE FIRST_NAME VARCHAR2(20) Wama Wull? Type
ERD_DATE NOTNULL | DATE LAST_MAME NOT NULL [VARCHARIQS)F [COUNTRY_ID ___ |NOT NULL | CHAR{Z)
EMAIL NOT NULL |VARCHARZ(25) COUNTRY_NARE VARCHARZ{40)
DEPARTMENT_ID WUMBER(4) PHONE NUMBER WARCHARZ(20)| REGION_ID NUMBER
HIRE_DATE NOT NULL |DATE = \*/
[Table JOBS SALARY NUMBER(S 2) .
e e 7 (R
| MANAGER 1D HUMBERG)
Wamo MNull? Type
MENT I M 4 e
MIN_SALARY HUMBER(S, REGION_NAME VR RCHAR2{40)
MAX_SALARY NUMBER[S =

Examine this query which must select the employee IDs of all the employees who have held the job SA_MAN at any time during their employment.
SELECT EMPLOYEE_ID FROM EMPLOYEES WHERE JOB_ID ='SA_MAN'

SELECT EMPLOYEE_ID FROM JOB_HISTORY WHERE JOB_ID ='SA_MAN/;

Choose two correct SET operators which would cause the query to return the desired result.

A. UNION
B. MINUS
C. INTERSECT
D. UNION ALL

Answer: AD

NEW QUESTION 4

Evaluate this ALTER TABLE statement: (Choose the best answer.) ALTER TABLE orders

SET UNUSED (order_date); Which statement is true?

A. After executing the ALTER TABLE command, a new column called ORDER_DATE can be added to the ORDERS table.
B. The ORDER_DATE column must be empty for the ALTER TABLE command to execute successfully.

C. ROLLBACK can be used to restore the ORDER_DATE column.

D. The DESCRIBE command would still display the ORDER_DATE column.

Answer: A

NEW QUESTION 5

Which task can be performed by using a single Data Manipulation Language (DML) statement?

A. Removing all data only from a single column on which a primary key constraint is defined.
B. Removing all data from a single column on which a unique constraint is defined.
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C. Adding a column with a default value while inserting a row into a table.
D. Adding a column constraint while inserting a row into a table.

Answer: A

NEW QUESTION 6
View the exhlblt and examine the structure of the CUSTOMERS table.

ETE
o TN RO NULL

NOT NULL HI.HBEH L)
VARCHARZ (20}
NOT NULL | VARCHARZ

sp.' T

IIIE UL '

T
Pil' ¥

lﬂUl?-T-EHAII_ - | varcHARZ (30) |

Which two tasks would require subqueries or joins to be executed in a single statement?

A. finding the number of customers, in each city, whose credit limit is more than the average credit limit of all the customers
B. finding the average credit limit of male customers residing in 'Tokyo' or 'Sydney'

C. listing of customers who do not have a credit limit and were born before 1980

D. finding the number of customers, in each city, who's marital status is 'married'.

E. listing of those customers, whose credit limit is the same as the credit limit of customers residing in the city "Tokyo'.

Answer: AE

NEW QUESTION 7

The BOOKS_TRANSACTIONS table exists in your schema in this database.

You execute this SQL statement when connected to your schema in your database instance. SQL> SELECT * FROM books_transactions ORDER BY 3;
What is the result?

A. The execution fails unless the numeral 3 in the ORDER BY clause is replaced by a column name.

B. All table rows are displayed sorted in ascending order of the values in the third column.

C. The first three rows in the table are displayed in the order that they are stored.

D. Only the three rows with the lowest values in the key column are displayed in the order that they are stored.

Answer: B

NEW QUESTION 8

You must create a SALES table with these column specifications and data types: (Choose the best answer.) SALESID: Number
STOREID: Number ITEMID: Number

QTY: Number, should be set to 1 when no value is specified

SLSDATE: Date, should be set to current date when no value is specified

PAYMENT: Characters up to 30 characters, should be set to CASH when no value is specified Which statement would create the table?

A. CREATE TABLE Sales(SALESID NUMBER (4),STOREID NUMBER (4),ITEMID NUMBER (4),QTY NUMBER DEFAULT = 1,SLSDATE DATE DEFAULT
SYSDATE,PAYMENT VARCHAR2(30) DEFAULT ="CASH");

B. CREATE TABLE Sales(SALESID NUMBER (4),STOREID NUMBER (4),ITEMID NUMBER (4),QTY NUMBER DEFAULT = 1,SLSDATE DATE DEFAULT
'SYSDATE',PAYMENT VARCHAR2(30) DEFAULT CASH);

C. CREATE TABLE Sales(SALESID NUMBER (4),STOREID NUMBER (4),ITEMID NUMBER (4),gty NUMBER DEFAULT = 1,SLSDATE DATE DEFAULT
SYSDATE,PAYMENT VARCHAR2(30) DEFAULT = "CASH");

D. Create Table sales(salesid NUMBER (4),Storeid NUMBER (4),ltemid NUMBER (4),QTY NUMBER DEFAULT 1,SIsdate DATE DEFAULT SYSDATE,payment
VARCHAR2(30) DEFAULT 'CASHY;

Answer: D

NEW QUESTION 9

Examine the data in the CUST_NAME column of the CUSTOMERS table.

CUST_NAME

Renske Ladwig Jason Mallin Samuel McCain Allan MCEwen Irene Mikilineni Julia Nayer

You need to display customers' second names where the second name starts with "Mc" or "MC". Which query gives the required output?

A. SELECT SUBSTR (cust_name, INSTR (cust_name, ' )+1)FROM customersWHERE SUBSTR (cust_name, INSTR (cust_name, ' )+1)LIKE INITCAP (‘MC%";
B. SELECT SUBSTR (cust_name, INSTR (cust_name, ' )+1)FROM customersWHERE INITCAP (SUBSTR(cust_name, INSTR (cust_name, ' )+1)) ='Mc’;

C. SELECT SUBSTR (cust_name, INSTR (cust_name, ' )+1)FROM customersWHERE INITCAP (SUBSTR(cust_name, INSTR (cust_name, ' )+1))LIKE 'Mc%';
D. SELECT SUBSTR (cust_name, INSTR (cust_name, ' )+1)FROM customersWHERE INITCAP (SUBSTR(cust_name, INSTR (cust_name, ' )+1)) =INITCAP
'MC%';

Answer: C

NEW QUESTION 10
Which two tasks can be performed by using Oracle SQL statements?
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A. changing the password for an existing database user

B. connecting to a database instance

C. querying data from tables across databases

D. starting up a database instance

E. executing operating system (OS) commands in a session

Answer: AC

Explanation:

References:

http://www.techonthenet.com/oracle/password.php
https://docs.oracle.com/cd/B28359 01/server.111/b28324/tdpii_distdbs.htm

NEW QUESTION 10

Examine the create table statements for the stores and sales tables.

SQL> CREATE TABLE stores(store_id NUMBER(4) CONSTRAINT store_id_pk PRIMARY KEY, store_name VARCHAR2(12), store_address VARCHAR2(20),
start_date DATE);

SQL> CREATE TABLE sales(sales_id NUMBER(4) CONSTRAINT sales_id_pk PRIMARY KEY, item_id NUMBER(4), quantity NUMBER(10), sales_date DATE,
store_id NUMBER(4), CONSTRAINT store_id_fk FOREIGN KEY(store_id) REFERENCES stores(store_id));

You executed the following statement: SQL> DELETE from stores

WHERE store_id=900;

The statement fails due to the integrity constraint error:

ORA-02292: integrity constraint (HR.STORE_ID_FK) violated

Which three options ensure that the statement will execute successfully?

A. Disable the primary key in the STORES table.

B. Use CASCADE keyword with DELETE statement.

C. DELETE the rows with STORE_ID = 900 from the SALES table and then delete rows from STORES table.
D. Disable the FOREIGN KEY in SALES table and then delete the rows.

E. Create the foreign key in the SALES table on SALES_ID column with on DELETE CASCADE option.

Answer: CDE

NEW QUESTION 14

On your Oracle 12c database, you invoked SQL *Loader to load data into the EMPLOYEES table in the HR schema by issuing the following command:
$> sqlldr hr/hr@pdb table=employees

Which two statements are true regarding the command?

A. It succeeds with default settings if the EMPLOYEES table belonging to HR is already defined in the database.
B. It fails because no SQL *Loader data file location is specified.

C. It fails if the HR user does not have the CREATE ANY DIRECTORY privilege.

D. It fails because no SQL *Loader control file location is specified.

Answer: AC

NEW QUESTION 16
Which two statements are true regarding savepoints? (Choose two.)

A. Savepoints may be used to ROLLBACK.

B. Savepoints can be used for only DML statements.

C. Savepoints are effective only for COMMIT.

D. Savepoints are effective for both COMMIT and ROLLBACK.
E. Savepoints can be used for both DML and DDL statements.

Answer: AB

NEW QUESTION 21

Examine the structure of the EMPLOYEES table. NameNull?Type

EMPLOYEE_IDNOT NULLNUMBER(6) FIRST_NAMEVARCHAR2(20) LAST_NAMENOT NULLVARCHAR2(25) EMAILNOT
NULLVARCHAR2(25) PHONE NUMBERVARCHAR2(20) HIRE_DATENOT NULLDATE JOB_IDNOT NULLVARCHAR2(10) SALARYNUMBER(8,2)
COMMISSION_PCTNUMBER(2,2) MANAGER_IDNUMBER(6) DEPARTMENT_IDNUMBER(4)

There is a parent/child relationship between EMPLOYEE_ID and MANAGER_ID.

You want to display the last names and manager IDs of employees who work for the same manager as the employee whose EMPLOYEE_ID is 123.
Which query provides the correct output?

A. SELECT e.last_name, m.manager_idFROM employees e RIGHT OUTER JOIN employees mon (e.manager_id = m.employee_id)AND e.employee_id = 123;
B. SELECT e.last_name, m.manager_idFROM employees e RIGHT OUTER JOIN employees mon (e.employee_id = m.manager_id)WHERE e.employee_id =
123;

C. SELECT e.last_name, e.manager_idFROM employees e RIGHT OUTER JOIN employees mon (e.employee_id = m.employee_id)WHERE e.employee_id =
123;

D. SELECT m.last_name, e.manager_idFROM employees e LEFT OUTER JOIN employees mon (e.manager_id = m.manager_id)WHERE e.employee_id = 123;

Answer: B

NEW QUESTION 24
Which three SQL statements would display the value 1890.55 as $1,890.55? (Choose three.)

A. SELECT TO_CHAR (1890.55, '$99G999D00") FROM DUAL
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B. SELECT TO_CHAR (1890.55, '$9,999V99") FROM DUAL;

C. SELECT TO_CHAR (1890.55, '$0G000D00") FROM DUAL;
D. SELECT TO_CHAR (1890.55, '$99,999D99') FROM DUAL;
E. SELECT TO_CHAR (1890.55, '$99G999D99') FROM DUAL

Answer: ACE
NEW QUESTION 26

Examine the structure of the MEMBERS table: NameNull?Type
MEMBER_IDNOT NULLVARCHAR?2 (6)

FIRST_NAMEVARCHAR? (50)
LAST_NAMENOT NULLVARCHAR? (50)
ADDRESSVARCHAR?2 (50)
CITYVARCHAR? (25)
STATEVARCHAR?2 (3)

You want to display details of all members who reside in states starting with the letter A followed by exactly one character.

Which SQL statement must you execute?

A. SELECT * FROM MEMBERS WHERE state LIKE '%A_*;
B. SELECT * FROM MEMBERS WHERE state LIKE 'A_*,
C. SELECT * FROM MEMBERS WHERE state LIKE 'A_%";
D. SELECT * FROM MEMBERS WHERE state LIKE 'A%

Answer: B

NEW QUESTION 27
Which statement is true about Enterprise Manager (EM) express in Oracle Database 12c?

A. By default, EM express is available for a database after database creation.

B. You can use EM express to manage multiple databases running on the same server.

C. You can perform basic administrative tasks for pluggable databases by using the EM express interface.
D. You cannot start up or shut down a database Instance by using EM express.

E. You can create and configure pluggable databases by using EM express.

Answer: A

NEW QUESTION 29

Which two statements are true regarding the EXISTS operator used in the correlated subqueries? (Choose two.)
A. The outer query stops evaluating the result set of the inner query when the first value is found.

B. It is used to test whether the values retrieved by the inner query exist in the result of the outer query.
C. Itis used to test whether the values retrieved by the outer query exist in the result set of the inner query.

D. The outer query continues evaluating the result set of the inner query until all the values in the result set are processed.

Answer: AC

Explanation:
References:
http://www.techonthenet.com/oracle/exists.php

NEW QUESTION 33
Which three statements are true regarding the data types?

A. The minimum column width that can be specified for a VARCHAR?Z2 data type column is one.

B. Only one LONG column can be used per table.

C. ATIMESTAMP data type column stores only time values with fractional seconds.

D. The BLOB data type column is used to store binary data in an operating system file.

E. The value for a CHAR data type column is blank-padded to the maximum defined column width.

Answer: ABE

NEW QUESTION 38
View the Exhibit and examine the data in the PRODUCTS table. (Choose the best answer.)
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PRODUCTS
PROD ID | PROD NAME | PROD CATEGORY | PROD MIN PRICE | PROD UNIT OF
MEASURE
101 Envoy 156MB- | Hardware 6000 Nos.
40GB
102 Y Box Electronics 9000
103 DVD-R Disc, Software/Other 2000 Nos.
4.7 GB
104 Documentation | Software/Other 4000

You must display product names from the PRODUCTS table that belong to the 'Software/other' category with minimum prices as either $2000 or $4000 and with

no unit of measure.
You issue this query:

SQL > SELECT prod_name, prod_category, prod_min_price FROM products
Where prod_category LIKE '%0Other%' AND (prod_min_price = 2000 OR prod_min_price = 4000) AND prod_unit_of measure <>"",

Which statement is true?

A. It executes successfully but returns no result.
B. It executes successfully and returns the required result.

C. It generates an error because the condition specified for PROD_UNIT_OF_MEASURE is not valid.
D. It generates an error because the condition specified for the PROD_CATEGORY column is not valid.

Answer: A

NEW QUESTION 43

Which three statements are true regarding the SQL WHERE and HAVING clauses?

A. The HAVING clause conditions can have aggregating functions.
B. The HAVING clause conditions can use aliases for the columns.

C. The WHERE and HAVING clauses cannot be used together in a SQL statement.

D. The WHERE clause is used to exclude rows before grouping data.

E. The HAVING clause is used to exclude one or more aggregated results after grouping data.

Answer: ADE

NEW QUESTION 45
Which two statements are true regarding the SQL GROUP BY clause?

A. You can use a column alias in the GROUP BY clause.

B. Using the WHERE clause after the GROUP BY clause excludes rows after creating groups.

C. The GROUP BY clause is mandatory if you are using an aggregating function in the SELECT clause.
D. Using the WHERE clause before the GROUP BY clause excludes rows before creating groups.

E. If the SELECT clause has an aggregating function, then columns without an aggregating function in the SELECT clause should be included in the GROUP BY

clause.

Answer: DE

NEW QUESTION 47
You execute the SQL statement: SQL> CREATE TABLE citizens

(citizen_id CHAR (10) PRIMARY KEY, last_name VARCHAR2 (50) NOT NULL, first_ name VARCHAR2 (50),

address VARCHAR?2 (100),
city VARCHAR?2 (30) DEFAULT ‘SEATTLE’ NOT NULL,

CONSTRAINT cnames CHECK (first_name<>last_name) ); What is the outcome?

A. It fails because the NOT NULL and DEFAULT options cannot be combined for the same column.

B. It succeeds and CITY can contain only ‘SEATTLE’ or null for all rows.
C. It fails because the condition for the CANAMES constraint is not valid.
D. It succeeds and an index is crated for CITIZEN_ID.

Answer: A

NEW QUESTION 50

When does a transaction complete? (Choose all that apply.)

A. When a PL/SQL anonymous block is executed

B. When a DELETE statement is executed

C. When a data definition language statement is executed

D. When a TRUNCATE statement is executed after the pending transaction

E. When a ROLLBACK command is executed

Answer: CDE
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NEW QUESTION 55
Which statements are true? (Choose all that apply.)

A. The data dictionary is created and maintained by the database administrator.

B. The data dictionary views consists of joins of dictionary base tables and user-defined tables.

C. The usernames of all the users including the database administrators are stored in the data dictionary.

D. The USER_CONS_COLUMNS view should be queried to find the names of the columns to which a constraint applies.

E. Both USER_OBJECTS and CAT views provide the same information about all the objects that are owned by the user.

F. Views with the same name but different prefixes, such as DBA, ALL and USER, use the same base tables from the data dictionary.

Answer: CDF

Explanation:
References:
https://docs.oracle.com/cd/B10501_01/server.920/a96524/c05dicti.htm

NEW QUESTION 59
Which two partitioned table maintenance operations support asynchronous Global Index Maintenance in Oracle database 12c?

A. ALTER TABLE SPLIT PARTITION

B. ALTER TABLE MERGE PARTITION

C. ALTER TABLE TRUNCATE PARTITION
D. ALTER TABLE ADD PARTITION

E. ALTER TABLE DROP PARTITION

F. ALTER TABLE MOVE PARTITION

Answer: CE

NEW QUESTION 62
You must create a table EMPLOYEES in which the values in the columns EMPLOYEES _ID and LOGIN_ID must be unique and not null. (Choose two.)
Which two SQL statements would create the required table?

A. CREATE TABLE employees(employee_id NUMBER,Login_id NUMBER,Employee_name VARCHAR2(100),Hire_date DATE,CONSTRAINT
emp_id_ukUNIQUE (employee_id, login_id));

B. CREATE TABLE employees(employee_id NUMBER,login_id NUMBER,employee_name VARCHAR2(25),hire_date DATE,CONSTRAINT emp_id_pk
PRIMARY KEY (employee_id, login_id));

C. CREATE TABLE employees(employee_id NUMBER CONSTRAINT emp_id_pk PRIMARY KEY, Login_id NUMBER UNIQUE, Employee_name
VARCHAR2(25),Hire_date DATE);

D. CREATE TABLE employees(employee_id NUMBER,Login_id NUMBER,Employee_name VARCHAR2(100),Hire_date DATE,CONSTRAINT emp_id_uk
UNIQUE (employee_id, login_id);CONSTRAINT emp_id_nn NOT NULL (employee_id, login_id));

E. CREATE TABLE employees(employee_id NUMBER CONSTRAINT emp_id_nn NOT NULL, Login_id NUMBER CONSTRAINT login_id_nn NOT
NULL,Employee_name VARCHAR2(100),Hire_date DATE,CONSTRAINT emp_id_ukUNIQUE (employee _id, login_id));

Answer: BE

NEW QUESTION 65
Which two statements are true regarding multiple-row subqueries? (Choose two.)

A. They can contain group functions.

B. They always contain a subquery within a subquery.

C. They use the < ALL operator to imply less than the maximum.

D. They can be used to retrieve multiple rows from a single table only.

E. They should not be used with the NOT IN operator in the main query if NULL is likely to be a part of the result of the subquery.

Answer: AE

NEW QUESTION 70
Which three statements are true about multiple-row subqueries?

A. They can contain a subquery within a subquery.

B. They can return multiple columns as well as rows.

C. They cannot contain a subquery within a subquery.

D. They can return only one column but multiple rows.

E. They can contain group functions and GROUP BY and HAVING clauses.

F. They can contain group functions and the GROUP BY clause, but not the HAVING clause.

Answer: ABE

NEW QUESTION 72

Examine the following query:

SQL> SELECT prod_id, amount_sold FROM sales
ORDER BY amount_sold

FETCH FIRST 5 PERCENT ROWS ONLY;

What is the output of this query?

A. It displays 5 percent of the products with the highest amount sold.

B. It displays the first 5 percent of the rows from the SALES table.
C. It displays 5 percent of the products with the lowest amount sold.
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D. It results in an error because the ORDER BY clause should be the last clause.
Answer: C

Explanation:
References:
https://oracle-base.com/articles/12c/row-limiting-clause-for-top-n-queries-12crl

NEW QUESTION 75
Examine the structure of the MEMBERS table. NameNull?Type
MEMBER_IDNOT NULLVARCHAR?2 (6)

FIRST_NAMEVARCHAR? (50)
LAST_NAMENOT NULLVARCHAR? (50)
ADDRESSVARCHAR? (50)
CITYVARCHAR?2 (25)
STATENOT NULL VARCHAR? (3)

Which query can be used to display the last names and city names only for members from the states MO and MI?

A. SELECT last_name, city FROM members WHERE state ='MO' AND state ='MI’;

B. SELECT last_name, city FROM members WHERE state LIKE 'M%;

C. SELECT last_name, city FROM members WHERE state IN (‘'MO', 'MI');

D. SELECT DISTINCT last_name, city FROM members WHERE state ='MO' OR state ='MI’;

Answer: C

NEW QUESTION 80
A non-correlated subquery can be defined as . (Choose the best answer.)

A. A set of one or more sequential queries in which generally the result of the inner query is used as the search value in the outer query.

B. A set of sequential queries, all of which must return values from the same table.
C. A set of sequential queries, all of which must always return a single value.
D. A SELECT statement that can be embedded in a clause of another SELECT statement only.

Answer: A

NEW QUESTION 81
View the Exhibit and examine the structure of the PROMOTIONS table.

Table PROMOTIONS

Name

PROMO_NAME NOT NULL
PROMO_SUBCATEGORY NOT NULL
PROMO_SUBCATEGORY_ID NOT NULL
PROMO_CATEGORY NOT NULL

PROMO_CATEGORY_ID NOT NULL
PROMO_COST NOT NULL
PROMO_BEGIN_DATE NOT NULL
PROMO_END DATE NOT NULL

VARCHAR2(30)
VARCHAR2(30)
NUMBER
VARCHAR2(30)
NUMBER
NUMBER(10,2)
DATE

DATE

Evaluate the following SQL statement:

SQL>SELECT promo name, CASE

WHEN promo_ cost >=(SELECT AVG(promo_cost)
FROM promotions

WHERE promo category=‘TV’)

THEN ‘HIGH’

ELSE ‘LOW’

END COST REMARK
FROM promotions;

Which statement is true regarding the outcome of the above query?

A. It produces an error because subqueries cannot be used with the CASE expression.
B. It shows COST_REMARK for all the promos in the promo category ‘TV'.
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C. It shows COST_REMARK for all the promos in the table.
D. It produces an error because the subquery gives an error.

Answer: C

NEW QUESTION 85

Evaluate the following query:

SQL> SELECT TRUNC (ROUND (156.00, -1),-1) FROM DUAL;
What would be the outcome?

A. 150
B. 200
C. 160
D. 16

E. 100

Answer: C

Explanation:
References:

https://docs.oracle.com/cd/B19306_01/server.102/b14200/functions135.htm https://docs.oracle.com/cd/B28359 01/olap.111/b28126/dml_functions_2127.htm

NEW QUESTION 87
View the Exhibit and examine the details of PRODUCT_INFORMATION table.
PRODUCT_NAME CATEGORY_ID SUPPLIER_ID
Inkjet C/8/HQ 12

102094

Inkjet C/4 12

102090

LaserPro 600/6/BW 12
102087

LaserPro 1200/8/BW 12
102099

Inkjet B/6 12

102096

Industrial 700/I1D 12
102086

Industrial 600/DQ 12
102088

Compact 400/LQ 12
102087

Compact 400/DQ 12
102088

HD 12GB /R 13

102090

HD 10GB /I 13

102071

HD 12GB @7200 /SE 13
102057

HD 18.2GB @10000 /E 13
102078

HD 18.2GB @10000 /I 13
102050

HD 18GB /SE 13

102083

HD 6GB /I 13

102072

HD 8.2GB@5400 13
102093

You have the requirement to display PRODUCT_NAME from the table where the CATEGORY _ID column has values 12 or 13, and the SUPPLIER_ID column has

the value 102088. You executed the following SQL statement:
SELECT product_name FROM product_information

WHERE (category_id = 12 AND category_id = 13) AND supplier_id = 102088; Which statement is true regarding the execution of the query?

A. It would not execute because the same column has been used in both sides of the AND logical operator to form the condition.
B. It would not execute because the entire WHERE clause condition is not enclosed within the parentheses.

C. It would execute and the output would display the desired result.

D. It would execute but the output would return no rows.

Answer: D

NEW QUESTION 91

The user SCOTT who is the owner of ORDERS and ORDER_ITEMS tables issues the following GRANT command:
GRANT ALL

ON orders, order_items TO PUBLIC;

What correction needs to be done to the above statement?

A. PUBLIC should be replaced with specific usernames.

B. ALL should be replaced with a list of specific privileges.
C. WITH GRANT OPTION should be added to the statement.
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D. Separate GRANT statements are required for ORDERS and ORDER_ITEMS tables.

Answer: D

Explanation:
References:
http://docs.oracle.com/javadb/10.8.3.0/ref/rrefsqljgrant.html

NEW QUESTION 94

View the exhibit and examine the ORDERS table. ORDERS

Name Null? Type

ORDER ID NOT NULL NUMBER(4) ORDATE DATE DATE CUSTOMER ID NUMBER(3) ORDER TOTAL NUMBER(7,2)

The ORDERS table contains data and all orders have been assigned a customer ID. Which statement would add a NOT NULL constraint to the CUSTOMER_ID
column?

A. ALTER TABLE ordersMODIFY CONSTRAINT orders_cust_id_nn NOT NULL (customer_id);

B. ALTER TABLE ordersADD CONSTRAINT orders_cust_id_nn NOT NULL (customer_id);

C. ALTER TABLE ordersMODIFY customer_id CONSTRAINT orders_cust_nn NOT NULL (customer_id);
D. ALTER TABLE ordersADD customer_id NUMBER(6)CONSTRAINT orders_cust_id_nn NOT NULL;

Answer: C

NEW QUESTION 97

View the exhibit and examine the structure of ORDERS and CUSTOMERS tables. ORDERS

Name Null? Type

ORDER_ID NOT NULL NUMBER(4) ORDER_DATE NOT NULL DATE ORDER_MODE VARCHAR2(8) CUSTOMER_ID NOT NULL NUMBER(6)
ORDER_TOTAL NUMBER(8, 2) CUSTOMERS

Name Null? Type

CUSTOMER_ID NOT NULL

NUMBER(6) CUST_FIRST_NAME NOT NULL VARCHAR2(20) CUST_LAST_NAME NOT NULL VARCHAR2(20) CREDIT_LIMIT NUMBER(9,2)
CUST_ADDRESS VARCHAR2(40)

Which INSERT statement should be used to add a row into the ORDERS table for the customer whose CUST_LAST_NAME is Roberts and CREDIT_LIMIT is
600? Assume there exists only one row with CUST_LAST_NAME as Roberts and CREDIT_LIMIT as 600.

A. INSERT INTO (SELECT o.order_id, o.order_date, o.order_mode, c.customer_id, o.order_totalFROM orders o, customers cWHERE o.customer_id =
c.customer_id AND c.cust_last_name='"Roberts' AND c.credit_limit=600)VALUES (1,'10-mar-2007', 'direct’, (SELECT customer_idFROM customersWHERE
cust_last name='Roberts' AND credit_limit=600), 1000);

B. INSERT INTO orders (order_id, order_date, order_mode,(SELECT customer idFROM customersWHERE cust_last_name='Roberts' AND credit_limit=600),
order_total);VALUES (1,'10-mar-2007', 'direct’, &customer_id, 1000);

C. INSERT INTO ordersVALUES (1,'10-mar-2007', 'direct’,(SELECT customer_idFROM customersWHERE cust_last_name='Roberts' AND credit_limit=600),
1000);

D. INSERT INTO orders (order_id, order_date, order_mode,(SELECT customer_idFROM customersWHERE cust_last_name='Roberts’ AND credit_limit=600),
order_total);VALUES (1,'10-mar-2007', 'direct’, &customer_id, 1000);

Answer: C

NEW QUESTION 98

In which three situations does a transaction complete?

A. when a PL/SQL anonymous block is executed

B. when a DELETE statement is executed

C. when a ROLLBACK command is executed

D. when a data definition language (DDL) statement is executed

E. when a TRUNCATE statement is executed after the pending transaction
Answer: CDE

Explanation:

References:
https://docs.oracle.com/cd/B19306_01/server.102/b14220/transact.htm

NEW QUESTION 103
View the Exhibit and examine the structure of the EMP table which is not partitioned and not an index-organized table. (Choose two.)

EMP

Name Null? Tvpe

EMPNO NOT NULL NUMBER (4)
FIRST NAME VARCHAR?2 (20)
LAST NAME VARCHAR?
SALARY NUMBER (10, 2)
DEPTNO NUMBER (2)
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Evaluate this SQL statement: ALTER TABLE emp
DROP COLUMN first_name; Which two statements are true?

A. The FIRST_NAME column can be dropped even if it is part of a composite PRIMARY KEY provided the CASCADE option is added to the SQL statement.
B. The FIRST_NAME column would be dropped provided at least one column remains in the table.

C. The FIRST_NAME column would be dropped provided it does not contain any data.

D. The drop of the FIRST_NAME column can be rolled back provided the SET UNUSED option is added to the SQL statement.

Answer: B

NEW QUESTION 106

Evaluate the following statement. INSERT ALL

WHEN order_total < 10000 THEN INTO small_orders

WHEN order_total > 10000 AND order_total < 20000 THEN INTO medium_orders

WHEN order_total > 200000 THEN INTO large_orders

SELECT order_id, order_total, customer_id FROM orders;

Which statement is true regarding the evaluation of rows returned by the subquery in the INSERT statement?

A. Each row is evaluated by the first WHEN clause and if the condition is false then the row would be evaluated by the subsequent when clauses.
B. All rows are evaluated by all the three WHEN clauses.

C. Each row is evaluated by the first WHEN clause and if the condition is true, then the row would be evaluated by the subsequent when clauses.
D. The INSERT statement will return an error because the ELSE clause is missing.

Answer: B

NEW QUESTION 107

Which statement is true about an inner join specified in the WHERE clause of a query?

A. It must have primary-key and foreign-key constraints defined on the columns used in the join condition.
B. It requires the column names to be the same in all tables used for the join conditions.

C. It is applicable for equijoin and nonequijoin conditions.

D. It is applicable for only equijoin conditions.

Answer: C

NEW QUESTION 112
View the Exhibit and examine the structure of the ORDERS table. The ORDER_ID column is the PRIMARY KEY in the ORDERS table.

Table CUSTOMERS
[Name Tirpeo
| NUMBERM)
CUST FIRST NAME  InoT NULL | vlRCHARE 20}
CUST_LAST NAME NOT WuLL | v
CUST_A CUST ADDRESS TYP
5 X =ud PHONE NUMBERS PHONE_LIST _TYP
PRODUCT D [NoT NuLL]wunBERE) WO 7 ::: S m&
BRI NUMBE mﬂ SRR YOTAL ”‘-%2‘ AT NUMBERMN.2)
[SACEE_REP_IDV ML ] L WARCHARD(MN |
Y [ PROBOTION 10 NUMBERB) ACCOUNT_MGR_ID NUMBE Rp|
- CUST_GEO_LOCATION MDSYE.S00_ GEOWETHY
i [sT Y] MM DATE
Table PRODUCT [WARITAL STATUS VAT HARZ(30)
[T GENDER WARCHARZ(1)
INCOME_LEVEL VARCHARI( 10
PRODUCT _NAME VARCHARTIS0)
[FRODUCT_DESC P TION VAR A LY 2000
CATEGORY_ID NUMBER{T)
WEIGHT_CLASS NUMBER(1)
WARMANTY _PERIOD INTEFVALYEAR(T) L]
TOMONTH NOT NULL
[SUFFLIER_ID NUMBER{S} NOT NULL
PRODUCT STATUS VARCHARNID) NOT NULL
LiST_PRICE NUMBER(E T)
WiN_PIOCE WUl
CATALDG_URL WARCHARI$0) . o preer
NTITY_ON_HARD | wOT NULL] wUMSERE) 2
WAREHOUSE NAME WARCHARLS)
LOCATION_ID P BB F 4
WH_GED _LOCATION] MOSYS SD0_OEOMETHY]

Evaluate the following CREATE TABLE command:

CREATE TABLE new_orders(ord_id, ord_date DEFAULT SYSDATE, cus_id) AS
SELECT order_id.order_date,customer_id FROM orders;

Which statement is true regarding the above command?

A. The NEW_ODRDERS table would not get created because the DEFAULT value cannot be specified in the column definition.

B. The NEW_ODRDERS table would get created and only the NOT NULL constraint defined on the specified columns would be passed to the new table.

C. The NEW_ODRDERS table would not get created because the column names in the CREATE TABLE command and the SELECT clause do not match.

D. The NEW_ODRDERS table would get created and all the constraints defined on the specified columns in the ORDERS table would be passed to the new table.

Answer: B
NEW QUESTION 115
Examine these SQL statements that are executed in the given order:

CREATE TABLE emp
(emp_no NUMBER (2) CONSTRAINT emp_emp_no_pk PRIMARY KEY, ename VARCHAR 2 (15),
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salary NUMBER (8, 2),

mgr_no NUMBER(2) CONSTRAINT emp_mgr_fk REFERENCES emp (emp_no)); ALTER TABLE emp
DISABLE CONSTRAINT emp_emp_no_pk CASCADE; ALTER TABLE emp

ENABLE CONSTRAINT emp_emp_no_pk;

What will be the status of the foreign key EMP_MGR_FK?

A. It will be enabled and immediate.

B. It will be enabled and deferred.

C. It will remain disabled and can be re-enabled manually.

D. It will remain disabled and can be enabled only by dropping the foreign key constraint and re-creating it.

Answer: C

NEW QUESTION 116

View the Exhibit and examine the structure of CUSTOMERS table.

Using the CUSTOMERS table, you need to generate a report that shows an increase in the credit limit by 15% for all customers. Customers whose credit limit has
not been entered should have the message "Not Available" displayed.

Which SQL statement would produce the required result?

b

T T

CUST _STREET _ADDRESS
CUST_POSTAL_CODE
CUST_cCiTy

cua'r INCOME LE‘UEL
CUST_CREDIT_LIMIT
CUST_EMAIL

A. SELECT NVL (TO CHAR(cust_credit_limit * .15), 'Not Available") "NEW CREDIT"FROM customers;
B. SELECT TO_CHAR (NVL(cust_credit_limit * .15), 'Not Available') "NEW CREDIT"FROM customers;
C. SELECT NVL(cust_credit_limit * .15), 'Not Available') "NEW CREDIT"FROM customers;

D. SELECT NVL(cust_credit_limit), ‘Not Available’) "NEW CREDIT"FROM customers;

Answer: A
NEW QUESTION 117

View the exhibit and examine the structures of the EMPLOYEES and DEPARTMENTS tables. EMPLOYEES
NameNull?Type

EMPLOYEE_IDNOT NULLNUMBER(6) FIRST_NAMEVARCHAR2(20) LAST_NAMENOT NULLVARCHAR2(25) HIRE_DATENOT
NULLDATE JOB_IDNOT NULLVARCHAR?2(10) SALARYNUMBER(10,2) COMMISSIONNUMBER(6,2) MANAGER_IDNUMBER(6)
DEPARTMENT_IDNUMBER(4) DEPARTMENTS

NameNull?Type

DEPARTMENT_IDNOT NULLNUMBER(4) DEPARTMENT_NAMENOT NULLVARCHAR2(30) MANAGER_IDNUMBER(6) LOCATION_IDNUMBER(4)
You want to update EMPLOYEES table as follows: You issue the following command:

SQL> UPDATE employees SET department_id = (SELECT department_id FROM departments

WHERE location_id = 2100), (salary, commission) =

(SELECT 1.1*AVG(salary), 1.5*AVG(commission) FROM employees, departments

WHERE departments.location_id IN(2900, 2700, 2100))

WHERE department_id IN (SELECT department_id FROM departments WHERE location_id = 2900 OR location_id = 2700; What is outcome?

A. It generates an error because multiple columns (SALARY, COMMISSION) cannot be specified together in an UPDATE statement.
B. It generates an error because a subquery cannot have a join condition in a UPDATE statement.

C. It executes successfully and gives the desired update

D. It executes successfully but does not give the desired update

Answer: D

NEW QUESTION 121
Examine the structure of the EMPLOYEES table. (Choose two.)
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Name Null? Type
EMPLOYEE 1D NOT NULL NUMBER(6)
FIRST NAME VARCHARZ (20)
LAST NAME NOT NULL VARCHARZ2 (25)
EMAIL NOT NULL VARCHARZ (25)
PHONE NUMBER VARCHAR2Z (20)
HIRE_ DATE NOT NULL DATE

JOB_ID NOT NULL VARCHARZ2 (10)
SALARY NUMBER (8, 2)
COMMISSION PCT NUMBER (2, 2)
MANAGER_ID NUMBER (6)
DEPARTMENT ID NUMBER (4)

You must display the maximum and minimum salaries of employees hired 1 year ago. Which two statements would provide the correct output?

A. SELECT MIN(Salary) minsal, MAX(salary) maxsalFROM employeesWHERE hire_date < SYSDATE-365GROUP BY MIN(salary), MAX(salary);

B. SELECT minsal, maxsalFROM (SELECT MIN(salary) minsal, MAX(salary) maxsal FROM employeesWHERE hire_date < SYSDATE-365)GROUP BY maxsal,
minsal;

C. SELECT minsal, maxsalFROM (SELECT MIN(salary) minsal, MAX(salary) maxsal FROM employeesWHERE hire_date < SYSDATE-365GROUP BY
MIN(salary), MAX(salary);

D. SELECT MIN(Salary), MAX(salary)FROM (SELECT salary FROM employeesWHERE hire_date < SYSDATE-365);

Answer: BD

NEW QUESTION 126
Examine the structure of the SALES table. (Choose two.)

NAME NULL? TYPE

PRODUCT _ID NOT NULL NUMBER(10)
CUSTOMER_ID NOT NULL VARCHAR2(10)
TIME_ID NOT NULL DATE
CHANNEL_ID NOT NULL NUMBER(5)
PROMO _ID NOT NULL NUMBER(5)
QUANTITY_SOLD NOT NULL NUMBER(10, 2)
PRICE NUMBER(10, 2)
AMOUNT SOLD NOT NULL NUMBER(10, 2)

Examine this statement:

SQL > CREATE TABLE sales1 (prod_id, cust_id, quantity_sold, price) AS
SELECT product_id, customer_id, quantity_sold, price FROM sales
WHERE 1 = 2;

Which two statements are true about the SALES] table?

A. It will not be created because the column-specified names in the SELECT and CREATE TABLE clauses do not match.
B. It will have NOT NULL constraints on the selected columns which had those constraints in the SALES table.

C. It will not be created because of the invalid WHERE clause.

D. It is created with no rows.

E. It has PRIMARY KEY and UNIQUE constraints on the selected columns which had those constraints in the SALES table.

Answer: BD

NEW QUESTION 128

Which statement is true regarding the default behaviour of the ORDER by clause?

A. Numeric values are displayed in descending order if they have decimal positions.

B. Only columns that are specified in the SELECT list can be used in the ORDER by clause.
C. In a character sort, the values are case-sensitive.

D. NULLs are not including in the sort operation

Answer: C

NEW QUESTION 133
See the Exhibit and examine the structure of the PROMOTIONS table:
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OMO_NA
PROMO_SUBCATEGORY

PROMO_COST
PROMO_BEGIN DATE
PROMO_END DATE

Using the PROMOTIONS table,
you need to find out the average cost for all promos in the range $0-2000 and $2000-5000 in category A.
You issue the following SQL statements:

SQL>SELECT AVG(CASE

WHEN promo_cost BETWEEN 0 AND 2000 AND promo_category="A'
THEN promo_cost
ELSE null END) "CAT_2000A",
AVG(CASE
WHEN promo_cost BETWEEN 2001 AND 5000 AND promo_category='A'
THEN promo_cost
ELSE null END) "CAT_5000A"
FROM promotions;

What would be the outcome?

A. It generates an error because multiple conditions cannot be specified for the WHEN clause.
B. It executes successfully and gives the required result.

C. It generates an error because CASE cannot be used with group functions.

D. It generates an error because NULL cannot be specified as a return value.

Answer: B

Explanation:

CASE Expression

Facilitates conditional inquiries by doing the work of an IF-THEN-ELSE statement:

CASE expr WHEN comparison_exprl THEN return_exprl [WHEN comparison_expr2 THEN return_expr2
WHEN comparison_exprn THEN return_exprn ELSE else_expr]

END

NEW QUESTION 134
Which statement is true about Data Manipulation Language (DML)?

A. DML automatically disables foreign ley constraints when modifying primary key values in the parent table.

B. Each DML statement forms a transaction by default.

C. A transaction can consist of one or more DML statements.

D. DML disables foreign key constraints when deleting primary key values in the parent table, only when the ON DELETE CASCADE option is set for the foreign
key constraint.

Answer: C

NEW QUESTION 138
View the Exhibit and examine the structure of ORDERS and CUSTOMERS tables. (Choose the best answer.)
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Table CUSTOMERS
OE i Tirpe
NUMBER)
CUST FRsT NAME  Inor NulL ] varc
CUST LAST NAME NOT NULL | WARCHARZ(20)
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VAHCHARI(IS)
WUMBER(S)
NDSYS 300 OE OMETRY]

You executed this UPDATE statement: UPDATE

( SELECT order_date, order_total, customer_id FROM orders) Set order_date = '22-mar-2007'

WHERE customer _id IN

(SELECT customer_id FROM customers

WHERE cust_last_name = 'Roberts' AND credit_limit = 600); Which statement is true regarding the execution?

A. It would not execute because a subquery cannot be used in the WHERE clause of an UPDATE statement.
B. It would not execute because two tables cannot be referenced in a single UPDATE statement.

C. It would execute and restrict modifications to the columns specified in the SELECT statement.

D. It would not execute because a SELECT statement cannot be used in place of a table name.

Answer: C

NEW QUESTION 139

Examine the commands used to create DEPARTMENT_DETAILS and COURSE_DETAILS:

SQL>CREATE TABLE DEPARTMENT_DETAILS (DEPARTMENT_ID NUMBER PRIMARY KEY, DEPARTMENT_NAMEVARCHAR2(50), HODVARCHAR2(50));
SQL>CREATE TABLE COURSE_DETAILS (COURSE_IDNUMBER PRIMARY KEY, COURSE_NAMEVARCHAR2(50), DEPARTMENT_IDVARCHAR2(50));
You want to generate a list of all department IDs along with any course IDs that may have been assigned to them.

Which SQL statement must you use?

A. SELECT d.department_id, c.course_id FROM department_details d RIGHT OUTER JOIN course_details ¢ ON (d.department_id=
B. department_id);

C. SELECT d.department_id, c.course_id FROM department_details d LEFT OUTER JOIN course_details ¢ ON (d.department_id=
D. department_id);

E. SELECT d.department_id, c.course_id FROM course_details c LEFT OUTER JOIN department_details d ON (c.department_id=
F. department_id);

G. SELECT d.department_id, c.course_id FROM department_details d RIGHT OUTER JOIN course_details ¢ ON (c.department_id=
H. department_id);

Answer: B

NEW QUESTION 144
You notice a performance change in your production Oracle 12c database. You want to know which change caused this performance difference.
Which method or feature should you use?

A. Compare Period ADDM report.

B. AWR Compare Period report.

C. Active Session History (ASH) report.

D. Taking a new shapshot and comparing it with a preserved snapshot.

Answer: B

NEW QUESTION 148
Which three statements are true regarding the WHERE and HAVING clauses in a SQL statement? (Choose three.)

A. WHERE and HAVING clauses cannot be used together in a SQL statement.

B. The HAVING clause conditions can have aggregate functions.

C. The HAVING clause conditions can use aliases for the columns.

D. The WHERE clause is used to exclude rows before the grouping of data.

E. The HAVING clause is used to exclude one or more aggregated results after grouping data.

Answer: ABD
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NEW QUESTION 149
Which two statements are true regarding roles? (Choose two.)

A. A role can be granted to itself.

B. A role can be granted to PUBLIC.

C. A user can be granted only one role at any point of time.

D. The REVOKE command can be used to remove privileges but not roles from other users.
E. Roles are named groups of related privileges that can be granted to users or other roles.

Answer: BE

Explanation:
References:
http://docs.oracle.com/cd/E25054_01/network.1111/e16543/authorization.htm#autold28

NEW QUESTION 151

You issued this command:

CHOOSE THREE

SQL > DROP TABLE employees; Which three statements are true?

A. Sequences used in the EMPLOYEES table become invalid.

B. If there is an uncommitted transaction in the session, it is committed.

C. All indexes and constraints defined on the table being dropped are also dropped.
D. The space used by the EMPLOYEES table is always reclaimed immediately.

E. The EMPLOYEES table can be recovered using the ROLLBACK command.

F. The EMPLOYEES table may be moved to the recycle bin.

Answer: BCF

NEW QUESTION 154
View the Exhibit and examine the data in the employees table.

EMPLOYEES

ENAME HIREDATE SAL COMM
SMITH 17-DEC-00 800
ALLEN 20~FEB-99 1600 100
WARD 22-FEB~-95 1250 500
JONES UZ2-APR-98 2915
MARTIN 28+ SEP~99 1250 1400
BLAKE 01-MAY-97 2850

You want to generate a report showing the total compensation paid to each employee to date. You issue the following query:

SQL>SELECT ename |!' joined on '|]| hiredate ||
's» the total compensation paid is ')/

T0_ CHAR (ROUND (ROUND (SYSDATE-hiredate) /365) * sal + comm)

"COMPENSATION UNTIL DATE"
FROM employees;

What is the outcome?

A. It executes successfully but does not give the correct output.

B. It generates an error because the concatenation operator can be used to combine only two items.
C. It generates an error because the usage of the round function in the expression is not valid

D. It generates an error because the alias is not valid.

E. It executes successfully and gives the correct output.

Answer: A

NEW QUESTION 156

Which two statements are true regarding the execution of the correlated subqueries? (Choose two.)
A. The nested query executes after the outer query returns the row.

B. The nested query executes first and then the outer query executes.

C. The outer query executes only once for the result returned by the inner query.

D. Each row returned by the outer query is evaluated for the results returned by the inner query.

Answer: AD

NEW QUESTION 159
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